Select the best answer from the choices given.

1.

Which of these is a variety of bean?

a.

b.
C.
d

Early cascade
Nantes
Harvester
Minetto

Which of these is a variety of tomato?

a.
b.
C.
d
This variety of tomato is best suited for the dry season.
a.
b
C.
d
This crop thrives best on light, free-draining loamy soils.
a.

b
c.
d

Chantenay
Great lakes
Big boston
Nema

Oxheart
Capitan
Calypso
Early cascade

Lettuce
Carrot
Tomato
Beans

Moulding is:

d.
b.
c
d

The removal of unwanted branches from the plant
The pulling of soil around the stem of the plant

A support for a plant

The provision of water to the plant

Seedlings planted in rows 60cm apart and with 38 cm between, best suits the planting distance
for which crop?

d.

b
c.
d

Lettuce
Beans
Tomato
Carrot

Pod spots is a fungal disease in:

d.

Beans
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10.

b.
C.
d.

Sulphate of ammonia is a good fertilizer for which short term crop?
a.

b
c.
d

Carrot
Tomato
Lettuce

Carrot
Lettuce
Tomato
Beans

“Earthing up” is an after-care practice for:

o n o w

Beans
Carrot
Lettuce
Tomato

Short-term crops:

b.
c.
d

Crops which grow and bear within one year

Crops which grow and bear within six-eight months
Crops which grow and bear within three to 4 months
Crops which grow and bear within one month

uaLIVEWORKSHEETS



